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Appendix. Survey item List and grand total

sql_1

sql 2

sq2

sq3

Please provide your age and gender. (SA)

(Note: In the survey form, sql 1 and sql_2 are asked as a single question.) (All respondents answered.)

n % valid %
1  Male 997 0.497 0.497
2 Female 1011 0.503 0.503

Please provide your age and gender. (SA)

(Note: In the survey form, sql 1 and sql_2 are asked as a single question.) (All respondents answered.)

n % valid %
1 Age20-29 332 0.165 0.165
2 Age30-39 464 0.231 0.231
3 Age40-49 627 0312 0.312
4 Age 50-59 585 0.291 0.291

Which of the following best describes the last school you graduated from? Please select the one that is

closest. (SA) (All respondents answered.)

n % valid %
1 Lower secondary 64 0.032 0.032
2 Upper secondary (high school) 835 0.416 0.416
3 Upper secondary (Koutou-Senshu) 19 0.009 0.009
4 Short-cycle tertiary (Senmon-Gakko) 203 0.101 0.101
5  Short-cycle tertiary (Tandai) 159 0.079 0.079
6  Bachelor 666 0.332 0.332
7 Master or doctor 62 0.031 0.031

Please select the option that best describes your current main job. (SA) (All respondents answered.)

n % valid %
1 Executives and directors 5 0.002 0.002
2 Standard worker 498 0.248 0.248
3 Part-time worker 501 0.250 0.250
4 Contract worker 271 0.135 0.135
5  Temporary worker 219 0.109 0.109
6  Contractor 11 0.005 0.005
7 Sole proprietorship 103 0.051 0.051
8  Family worker 58 0.029 0.029
9  side-job 15 0.007 0.007
10  Unemployed 327 0.163 0.163
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block  assigned block (random)

n % valid %
1 Blockl 178 0.089 0.089
2 Block2 158 0.079 0.079
3 Block3 153 0.076 0.076
4 Block4 187 0.093 0.093
5  Block5 172 0.086 0.086
6  Block6 161 0.080 0.080
7  Block7 168 0.084 0.084
8  Block8 184 0.092 0.092
9  Block9 161 0.080 0.080
10  Blockl10 172 0.086 0.086
11 Blockll 160 0.080 0.080
12 Blockl2 154 0.077 0.077
ql 1 [Vignette 1] In general, people sometimes distinguish between high and low social status. If you were to

classify the person currently displayed in such a manner, which category would you place them in, from 1

(lowest) to 9 (highest)? (SA) (All respondents answered.)

1

AW

(o)}

7
8
9

Lowest

Normal

Highest

67
150
321
482
752
138
59
24
15

%

0.033
0.075
0.160
0.240
0.375
0.069
0.029
0.012
0.007

valid %
0.033
0.075
0.160
0.240
0.375
0.069
0.029
0.012
0.007

ql 2 [Vignette 2] In general, people sometimes distinguish between high and low social status. If you were to

classify the person currently displayed in such a manner, which category would you place them in, from 1

(lowest) to 9 (highest)? (SA) (All respondents answered.)

1

2
3
4

Lowest

Normal

71
110
322
514
790

%

0.035
0.055
0.160
0.256
0.393

valid %
0.035
0.055
0.160
0.256
0.393



ql 3

ql 4

ql 5

7
8
9

Highest

120
52
21

8

0.060
0.026
0.010
0.004

0.060
0.026
0.010
0.004

[Vignette 3] In general, people sometimes distinguish between high and low social status. If you were to

classify the person currently displayed in such a manner, which category would you place them in, from 1

(lowest) to 9 (highest)? (SA) (All respondents answered.)

1

AW

(o)}

7
8
9

Lowest

Normal

Highest

102
182
394
507
646
98
50
15
14

%

0.051
0.091
0.196
0.252
0.322
0.049
0.025
0.007
0.007

valid %
0.051
0.091
0.196
0.252
0.322
0.049
0.025
0.007
0.007

[Vignette 4] In general, people sometimes distinguish between high and low social status. If you were to

classify the person currently displayed in such a manner, which category would you place them in, from 1

(lowest) to 9 (highest)? (SA) (All respondents answered.)

1

AW

(o)}

7
8
9

Lowest

Normal

Highest

96
167
385
483
702
101

47

16

11

%

0.048
0.083
0.192
0.241
0.350
0.050
0.023
0.008
0.005

valid %
0.048
0.083
0.192
0.241
0.350
0.050
0.023
0.008
0.005

[Vignette 5] In general, people sometimes distinguish between high and low social status. If you were to

classify the person currently displayed in such a manner, which category would you place them in, from 1

(lowest) to 9 (highest)? (SA) (All respondents answered.)

1
2

Lowest

57
100

%
0.028
0.050

valid %
0.028
0.050



ql 6

ql 7

ql 8

7
8
9

Normal

Highest

291
465
848
148
65
20
14

0.145
0.232
0.422
0.074
0.032
0.010
0.007

0.145
0.232
0.422
0.074
0.032
0.010
0.007

[Vignette 6] In general, people sometimes distinguish between high and low social status. If you were to

classify the person currently displayed in such a manner, which category would you place them in, from 1

(lowest) to 9 (highest)? (SA) (All respondents answered.)

1

AW

(o)}

7
8
9

Lowest

Normal

Highest

117
199
408
471
659
87
36
20
11

%

0.058
0.099
0.203
0.235
0.328
0.043
0.018
0.010
0.005

valid %
0.058
0.099
0.203
0.235
0.328
0.043
0.018
0.010
0.005

[Vignette 7] In general, people sometimes distinguish between high and low social status. If you were to

classify the person currently displayed in such a manner, which category would you place them in, from 1

(lowest) to 9 (highest)? (SA) (All respondents answered.)

1

AW

Lowest

Normal

Highest

35
29
101
227
1102
294
135
54
31

%

0.017
0.014
0.050
0.113
0.549
0.146
0.067
0.027
0.015

valid %
0.017
0.014
0.050
0.113
0.549
0.146
0.067
0.027
0.015

[Vignette 8] In general, people sometimes distinguish between high and low social status. If you were to

classify the person currently displayed in such a manner, which category would you place them in, from 1



(lowest) to 9 (highest)? (SA) (All respondents answered.)

AW

(o)}

7
8
9

Lowest

Normal

Highest

60
86
269
493
864
144
60
20
12

%

0.030
0.043
0.134
0.246
0.430
0.072
0.030
0.010
0.006

valid %
0.030
0.043
0.134
0.246
0.430
0.072
0.030
0.010
0.006

ql 9 [Vignette 9] In general, people sometimes distinguish between high and low social status. If you were to

classify the person currently displayed in such a manner, which category would you place them in, from 1

(lowest) to 9 (highest)? (SA) (All respondents answered.)

1

AW

(o)}

7
8
9

Lowest

Normal

Highest

22
14
62

137
1023
388
221
99
42

%

0.011
0.007
0.031
0.068
0.509
0.193
0.110
0.049
0.021

valid %
0.011
0.007
0.031
0.068
0.509
0.193
0.110
0.049
0.021

ql 10 [Vignette 10] In general, people sometimes distinguish between high and low social status. If you were to

classify the person currently displayed in such a manner, which category would you place them in, from 1

(lowest) to 9 (highest)? (SA) (All respondents answered.)

1

AW

el )

Lowest

Normal

51
58
238
471
886
201
66
25

%

0.025
0.029
0.119
0.235
0.441
0.100
0.033
0.012

valid %
0.025
0.029
0.119
0.235
0.441
0.100
0.033
0.012



9

Highest

12

0.006

0.006

ql 11 [Vignette 11] In general, people sometimes distinguish between high and low social status. If you were to

classify the person currently displayed in such a manner, which category would you place them in, from 1

(lowest) to 9 (highest)? (SA) (All respondents answered.)

1

AW

(o)}

7
8
9

Lowest

Normal

Highest

25
19
78

161
1071
349
194
74
37

%

0.012
0.009
0.039
0.080
0.533
0.174
0.097
0.037
0.018

valid %
0.012
0.009
0.039
0.080
0.533
0.174
0.097
0.037
0.018

ql 12 [Vignette 12] In general, people sometimes distinguish between high and low social status. If you were to

classify the person currently displayed in such a manner, which category would you place them in, from 1

(lowest) to 9 (highest)? (SA) (All respondents answered.)

1

AW

(o)}

7
8
9

Lowest

Normal

Highest

69
117
313
502
809
120

57

13

8

%

0.034
0.058
0.156
0.250
0.403
0.060
0.028
0.006
0.004

valid %
0.034
0.058
0.156
0.250
0.403
0.060
0.028
0.006
0.004

ql 13 [Vignette 13] In general, people sometimes distinguish between high and low social status. If you were to

classify the person currently displayed in such a manner, which category would you place them in, from 1

(lowest) to 9 (highest)? (SA) (All respondents answered.)

1

2
3
4

Lowest

Normal

72
139
345
457
749

%

0.036
0.069
0.172
0.228
0.373

valid %
0.036
0.069
0.172
0.228
0.373



ql 14

ql 15

ql 16

7
8
9

Highest

151
56
24
15

0.075
0.028
0.012
0.007

0.075
0.028
0.012
0.007

[Vignette 14] In general, people sometimes distinguish between high and low social status. If you were to

classify the person currently displayed in such a manner, which category would you place them in, from 1

(lowest) to 9 (highest)? (SA) (All respondents answered.)

1

AW

(o)}

7
8
9

Lowest

Normal

Highest

24
21
70

184
1066
315
215
78
35

%

0.012
0.010
0.035
0.092
0.531
0.157
0.107
0.039
0.017

valid %
0.012
0.010
0.035
0.092
0.531
0.157
0.107
0.039
0.017

[Vignette 15] In general, people sometimes distinguish between high and low social status. If you were to

classify the person currently displayed in such a manner, which category would you place them in, from 1

(lowest) to 9 (highest)? (SA) (All respondents answered.)

1

AW

(o)}

7
8
9

Lowest

Normal

Highest

52
77
232
467
885
173
87
20
15

%

0.026
0.038
0.116
0.233
0.441
0.086
0.043
0.010
0.007

valid %
0.026
0.038
0.116
0.233
0.441
0.086
0.043
0.010
0.007

[Vignette 16] In general, people sometimes distinguish between high and low social status. If you were to

classify the person currently displayed in such a manner, which category would you place them in, from 1

(lowest) to 9 (highest)? (SA) (All respondents answered.)

1
2

Lowest

80
173

%
0.040
0.086

valid %
0.040
0.086



ql 17

ql 18

q2 1

4
5  Normal
6
7
8
9  Highest

398
449
720
100
62
15
11

0.198
0.224
0.359
0.050
0.031
0.007
0.005

0.198
0.224
0.359
0.050
0.031
0.007
0.005

[Vignette 17] In general, people sometimes distinguish between high and low social status. If you were to

classify the person currently displayed in such a manner, which category would you place them in, from 1

(lowest) to 9 (highest)? (SA) (All respondents answered.)

1 Lowest
2
3
4
5  Normal
6
7
8
9  Highest

21
13
68
148
995
403
215
110
35

%

0.010
0.006
0.034
0.074
0.496
0.201
0.107
0.055
0.017

valid %
0.010
0.006
0.034
0.074
0.496
0.201
0.107
0.055
0.017

[Vignette 18] In general, people sometimes distinguish between high and low social status. If you were to

classify the person currently displayed in such a manner, which category would you place them in, from 1

(lowest) to 9 (highest)? (SA) (All respondents answered.)

1 Lowest

AW

5  Normal

9  Highest

33
28
105
248
1071
307
137
56
23

%

0.016
0.014
0.052
0.124
0.533
0.153
0.068
0.028
0.011

valid %
0.016
0.014
0.052
0.124
0.533
0.153
0.068
0.028
0.011

To what extent have you considered the following criteria when categorizing various jobs in the past?

(SAMT) (All respondents answered.)

* Required education level



qQ2.2

q2 3

q2 4

q2 5

n % valid %

1 Very important 106 0.053 0.053
2 Somewhat important 430 0.214 0.214
3 Not very important 801 0.399 0.399
4 Not important at all 438 0.218 0.218
5  Don't know 233 0.116 0.116

To what extent have you considered the following criteria when categorizing various jobs in the past?

(SAMT) (All respondents answered.)

+ Skill level
n % valid %
1 Very important 267 0.133 0.133
2 Somewhat important 892 0.444 0.444
3 Not very important 461 0.230 0.230
4 Not important at all 195 0.097 0.097
5  Don't know 193 0.096 0.096

To what extent have you considered the following criteria when categorizing various jobs in the past?

(SAMT) (All respondents answered.)

* Responsibility
n % valid %
1 Very important 261 0.130 0.130
2 Somewhat important 912 0.454 0.454
3 Not very important 467 0.233 0.233
4 Not important at all 175 0.087 0.087
5  Don't know 193 0.096 0.096

To what extent have you considered the following criteria when categorizing various jobs in the past?

(SAMT) (All respondents answered.)

* Income
n % valid %
1 Very important 303 0.151 0.151
2 Somewhat important 820 0.408 0.408
3 Not very important 523 0.260 0.260
4 Not important at all 176 0.088 0.088
5  Don't know 186 0.093 0.093

To what extent have you considered the following criteria when categorizing various jobs in the past?
(SAMT) (All respondents answered.)

+ Level of respect received from society



n % valid %
1 Very important 156 0.078 0.078
2 Somewhat important 648 0.323 0.323
3 Not very important 703 0.350 0.350
4 Not important at all 272 0.135 0.135
5  Don't know 229 0.114 0.114

q2 6 To what extent have you considered the following criteria when categorizing various jobs in the past?
(SAMT) (All respondents answered.)
* Level of contribution to society

n % valid %
1 Very important 125 0.062 0.062
2 Somewhat important 588 0.293 0.293
3 Not very important 750 0.374 0.374
4 Not important at all 313 0.156 0.156
5  Don't know 232 0.116 0.116

q2 7 To what extent have you considered the following criteria when categorizing various jobs in the past?

(SAMT) (All respondents answered.)

+ Job autonomy

1
2
3
4

5

Very important
Somewhat important
Not very important
Not important at all

Don't know

n

161
715
668
236
228

%

0.080
0.356
0.333
0.118
0.114

valid %
0.080
0.356
0.333
0.118
0.114

q2 8 To what extent have you considered the following criteria when categorizing various jobs in the past?

(SAMT) (All respondents answered.)

+ Job stability

1
2
3
4

5

Very important
Somewhat important
Not very important
Not important at all

Don't know

n

393
905
380
144
186

%

0.196
0.451
0.189
0.072
0.093

valid %
0.196
0.451
0.189
0.072
0.093

q2 9 To what extent have you considered the following criteria when categorizing various jobs in the past?

(SAMT) (All respondents answered.)

+ Future prospects

10



n % valid %
1 Very important 325 0.162 0.162
2 Somewhat important 887 0.442 0.442
3 Not very important 444 0.221 0.221
4 Not important at all 153 0.076 0.076
5  Don't know 199 0.099 0.099
q3 Please select the option that best describes the type of business of your current main employer. (SA) (Re-
spondents who answered 1 to 9 in sq3 answered this question.)
n % valid %
1 Agriculture, Forestry, and Fishing 15 0.007 0.007
2 Mining 0 0.000 0.000
3 Construction 82 0.041 0.041
4 Manufacturing 316 0.157 0.157
5  Electricity, Gas, Heat Supply, and Water 30 0.015 0.015
6  Information and Communications 112 0.056 0.056
7  Transportation and Postal Services 118 0.059 0.059
8  Wholesale and Retail 177 0.088 0.088
9  Finance and Insurance 67 0.033 0.033
10  Real Estate 29 0.014 0.014
11 Medical and Welfare 107 0.053 0.053
12 Education and Learning Support 80 0.040 0.040
13 Accommodation and Food Services 75 0.037 0.037
14  Service Industry 334 0.166 0.166
15  Public Service 58 0.029 0.029
16  Other 81 0.040 0.040
88  Not applicable 327 0.163 0.163
q4 Please indicate the total number of employees at your current main workplace, including family workers,

part-time employees, and temporary staff. (SA) (Respondents who answered 1 to 9 in sq3 answered this

question.)

AW

1 person

24 people

5-9 people
10-29 people
30-99 people
100-299 people

11

120
105
108
205
273
244

%

0.060
0.052
0.054
0.102
0.136
0.122

valid %
0.071
0.062
0.064
0.122
0.162
0.145



q5

q6

q7_1

q7 2

7 300-999 people 200
8 1,000 or more people 382
9  Government office 44
88  Not applicable 327

0.100
0.190
0.022
0.163

0.119
0.227
0.026

Please select the option that best describes your current main job. (SA) (Respondents who answered 1 to 9

in sq3 answered this question.)

n
1 Professional/Technical 221
2 Managerial 62
3 Clerical 535
4 Sales 133
5  Service 350
6  Production/Skilled 219
7  Transportation/Security 84
8  Other 77

88  Not applicable 327

Please select the option that best describes your position in your current main job.

answered 1 to 9 in sq3 answered this question.)

n
1 No position 1440
2 Supervisor/Foreman/Team Leader/Group Leader 24
3 Assistant Manager or equivalent 55
4 Section Manager or equivalent 59
5  Department Manager or equivalent 35
6  President/Executive/Director/Board Member 30
7  Other 38

88  Not applicable 327

% valid %
0.110 0.131
0.031 0.037
0.266 0.318
0.066 0.079
0.174 0.208
0.109 0.130
0.042 0.050
0.038 0.046
0.163

(SA) (Respondents who
% valid %
0.717 0.857
0.012 0.014
0.027 0.033
0.029 0.035
0.017 0.021
0.015 0.018
0.019 0.023
0.163

Please select all the reasons that apply for why you are currently working in a nonstandard employment.

(MA) (Respondents who answered 3 to 6 or 9 in sq3 answered this question.)

* Because there are no standard worker positions available.

n
0  Not selected 761
1 Selected 256

88  Not applicable 991

%

0.379
0.127
0.494

valid %
0.748
0.252

Please select all the reasons that apply for why you are currently working in a nonstandard employment.

(MA) (Respondents who answered 3 to 6 or 9 in sq3 answered this question.)

12



+ Because I want to work at times that are convenient for me

n % valid %
0  Not selected 700 0.349 0.688
1 Selected 317 0.158 0.312
88  Not applicable 991 0.494
q7_3 Please select all the reasons that apply for why you are currently working in a nonstandard employment.
(MA) (Respondents who answered 3 to 6 or 9 in sq3 answered this question.)
* Because I want to earn supplementary income for household expenses, living expenses, tuition, etc.
n % valid %
0  Not selected 910 0.453 0.895
1 Selected 107 0.053 0.105
88  Not applicable 991 0.494
q7_4 Please select all the reasons that apply for why you are currently working in a nonstandard employment.
(MA) (Respondents who answered 3 to 6 or 9 in sq3 answered this question.)
* Because it is easier to balance with household chores, childcare, or caregiving.
n % valid %
0  Not selected 856 0.426 0.842
1 Selected 161 0.080 0.158
88  Not applicable 991 0.494
q7_5 Please select all the reasons that apply for why you are currently working in a nonstandard employment.
(MA) (Respondents who answered 3 to 6 or 9 in sq3 answered this question.)
* Because I can utilize my specialized skills
n % valid %
0  Not selected 953 0.475 0.937
1 Selected 64 0.032 0.063
88  Not applicable 991 0.494
q7_6 Please select all the reasons that apply for why you are currently working in a nonstandard employment.
(MA) (Respondents who answered 3 to 6 or 9 in sq3 answered this question.)
* Because it is a job that suits my health condition.
n % valid %
0  Not selected 838 0.417 0.824
1 Selected 179 0.089 0.176
88  Not applicable 991 0.494
q7.7

Please select all the reasons that apply for why you are currently working in a nonstandard employment.

(MA) (Respondents who answered 3 to 6 or 9 in sq3 answered this question.)

13



* No particular reason

(Note: If q7_7 is selected, other options cannot be selected.)

n % valid %
0  Not selected 771 0.384 0.758
1 Selected 246 0.123 0.242
88  Not applicable 991 0.494
q7_8 Please select all the reasons that apply for why you are currently working in a nonstandard employment.
(MA) (Respondents who answered 3 to 6 or 9 in sq3 answered this question.)
* Others
n % valid %
0  Not selected 979 0.488 0.963
1 Selected 38 0.019 0.037
88  Not applicable 991 0.494
q8 Please select the option that best describes your income over the past year. (SA) (Respondents who an-
swered 1 to 9 in sq3 answered this question.)
n % valid %
1 No income 60 0.030 0.036
2 Less than 250,000 yen 114 0.057 0.068
3 Around 500,000 yen 82 0.041 0.049
4 Around 1,000,000 yen 291 0.145 0.173
5 Around 2,000,000 yen 346 0.172 0.206
6  Around 3,000,000 yen 329 0.164 0.196
7  Around 4,000,000 yen 187 0.093 0.111
8  Around 5,000,000 yen 126 0.063 0.075
9  Around 7,000,000 yen 89 0.044 0.053
10 Around 10,000,000 yen 40 0.020 0.024
11 Around 15,000,000 yen 9 0.004 0.005
12 Around 20,000,000 yen 1 0.000 0.001
13 22,500,000 yen or more 7 0.003 0.004
88  Not applicable 327 0.163
q9_1 Approximately how many hours per day do you usually spend working? (If it varies from day to day,

please provide the approximate average time.) (SA) (Respondents who answered 1 to 9 in sq3 answered

this question.)

1 Lessthan 1 hour 47
2 2hours 25

14

%
0.023
0.012

valid %
0.028
0.015



q9 2

ql0

Mol ]

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
88

3 hours 58
4 hours 110
5 hours 136
6 hours 136
7 hours 272
8 hours 660
9 hours 118
10 hours 77
11 hours 15
12 hours 13
13 hours 2
14 hours 2
15 hours 4
16 hours 3
17 hours 1
18 hours 0
19 hours 2
20 hours 0
21 hours 0
22 hours 0
23 hours 0
24 hours 0
Not applicable 327

0.029
0.055
0.068
0.068
0.135
0.329
0.059
0.038
0.007
0.006
0.001
0.001
0.002
0.001
0.000
0.000
0.001
0.000
0.000
0.000
0.000
0.000
0.163

0.035
0.065
0.081
0.081
0.162
0.393
0.070
0.046
0.009
0.008
0.001
0.001
0.002
0.002
0.001
0.000
0.001
0.000
0.000
0.000
0.000
0.000

Approximately how many days per week do you usually work? (If it varies from week to week, please pro-

vide the approximate average number of days.) (SA) (Respondents who answered 1 to 9 in sq3 answered

this question.)

1

AW

7
88

n
1 day 54
2 days 48
3 days 148
4 days 167
5 days 1089
6 days 123
7 days 52
Not applicable 327

%

0.027
0.024
0.074
0.083
0.542
0.061
0.026
0.163

valid %
0.032
0.029
0.088
0.099
0.648
0.073
0.031

What is the term and renewal status of your current employment contract? Please select one option. (SA)

15



qll 1

qll 2

qll 3

(Respondents who answered 1 to 9 in sq3 answered this question.)

88

No fixed term for the employment contract (including em-
ployment until retirement)

Fixed term for the employment contract, with renewal
Fixed term for the employment contract, probably with re-
newal

Fixed term for the employment contract, without renewal
Fixed term for the employment contract, renewal status un-
known

Unknown whether there is a fixed term for the employment
contract

Not applicable

768

376
171

40
66

260

327

%
0.382

0.187
0.085

0.020
0.033

0.129

0.163

valid %
0.457

0.224
0.102

0.024
0.039

0.155

Since graduating from the last school you attended, have you ever engaged in any of the following types of

employment? Please include your current employment as well. (SAMT) (All respondents answered.)

+ standard employment

1
2
3
4

5

No work experience

Have work experience (less than 1 year)
Have work experience (1-2 years)

Have work experience (3-5 years)

Have work experience (6 years or more)

n
558
125
159
270
896

%

0.278
0.062
0.079
0.134
0.446

valid %
0.278
0.062
0.079
0.134
0.446

Since graduating from the last school you attended, have you ever engaged in any of the following types of

employment? Please include your current employment as well. (SAMT) (All respondents answered.)

* part-time employment

1
2
3
4

5

No work experience

Have work experience (less than 1 year)
Have work experience (1-2 years)

Have work experience (3-5 years)

Have work experience (6 years or more)

n
458
304
288
374
584

%

0.228
0.151
0.143
0.186
0.291

valid %
0.228
0.151
0.143
0.186
0.291

Since graduating from the last school you attended, have you ever engaged in any of the following types of

employment? Please include your current employment as well. (SAMT) (All respondents answered.)

* temporary employment

1

No work experience

16

n

1310

%
0.652

valid %
0.652



ql2 1

ql2 2

ql3. 1

2 Have work experience (less than 1 year) 175 0.087 0.087
3 Have work experience (1-2 years) 167 0.083 0.083
4 Have work experience (3-5 years) 141 0.070 0.070
5  Have work experience (6 years or more) 215 0.107 0.107

Approximately how many of the following types of employees are there at your main workplace? Please
select the closest option for each. (SAMT) (Respondents who answered 1 to 8 in sq3 answered this ques-
tion.)

* part-time worker

n % valid %

1 None at all 474 0.236 0.285
2 10% or less 230 0.115 0.138
3 Around 20-40% 224 0.112 0.134
4 Around 50% 142 0.071 0.085
5  Around 60-80% 163 0.081 0.098
6  90% or more 119 0.059 0.071
7  Don't know 314 0.156 0.188
88  Not applicable 342 0.170

Approximately how many of the following types of employees are there at your main workplace? Please
select the closest option for each. (SAMT) (Respondents who answered 1 to 8 in sq3 answered this ques-
tion.)

* temporary worker

n % valid %

1 None at all 744 0.371 0.447
2 10% or less 250 0.125 0.150
3 Around 20—-40% 210 0.105 0.126
4 Around 50% 75 0.037 0.045
5  Around 60-80% 46 0.023 0.028
6  90% or more 16 0.008 0.010
7  Don't know 325 0.162 0.195
88  Not applicable 342 0.170

At your current main workplace, do you think there are disparities between standard employees and part-
time employees in the following areas? Please select the option that best applies. (SAMT) (Respondents
who answered 2 to 6 in sq12 1 answered this question.)
+ Wages
n % valid %
1 There is a disparity 563 0.280 0.641
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2 There is no disparity 128 0.064 0.146
3 Don't know 187 0.093 0.213
88  Not applicable 1130 0.563
ql3 2 Atyour current main workplace, do you think there are disparities between standard employees and part-
time employees in the following areas? Please select the option that best applies. (SAMT) (Respondents

who answered 2 to 6 in sq12 1 answered this question.)

* Employee benefits
n % valid %
1 There is a disparity 474 0.236 0.540
2 There is no disparity 215 0.107 0.245
3 Don't know 189 0.094 0.215
88  Not applicable 1130 0.563

ql3 3 Atyour current main workplace, do you think there are disparities between standard employees and part-
time employees in the following areas? Please select the option that best applies. (SAMT) (Respondents
who answered 2 to 6 in sq12 1 answered this question.)

+ Salary increase

n % valid %
1 There is a disparity 541 0.269 0.616
2 There is no disparity 122 0.061 0.139
3 Don't know 215 0.107 0.245
88  Not applicable 1130 0.563

ql3 4  Atyour current main workplace, do you think there are disparities between standard employees and part-
time employees in the following areas? Please select the option that best applies. (SAMT) (Respondents
who answered 2 to 6 in sq12 1 answered this question.)

+ Job training opportunities

n % valid %
1 There is a disparity 377 0.188 0.429
2 There is no disparity 241 0.120 0.274
3 Don't know 260 0.129 0.296
88  Not applicable 1130 0.563

ql4 1 Atyour current main workplace, do you think there are disparities between standard employees and tempo-
rary employees in the following areas? Please select the option that best applies. (SAMT) (Respondents
who answered 2 to 6 in sq12 2 answered this question.)
+ Wages
n % valid %
1 There is a disparity 388 0.193 0.650
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2 There is no disparity 71 0.035 0.119
3 Don't know 138 0.069 0.231
88  Not applicable 1411 0.703
ql4 2 Atyour current main workplace, do you think there are disparities between standard employees and tempo-
rary employees in the following areas? Please select the option that best applies. (SAMT) (Respondents

who answered 2 to 6 in sq12 2 answered this question.)

* Employee benefits
n % valid %
1 There is a disparity 348 0.173 0.583
2 There is no disparity 118 0.059 0.198
3 Don't know 131 0.065 0.219
88  Not applicable 1411 0.703

ql4 3 Atyour current main workplace, do you think there are disparities between standard employees and tempo-
rary employees in the following areas? Please select the option that best applies. (SAMT) (Respondents
who answered 2 to 6 in sq12 2 answered this question.)

+ Salary increase

n % valid %
1 There is a disparity 392 0.195 0.657
2 There is no disparity 69 0.034 0.116
3 Don't know 136 0.068 0.228
88  Not applicable 1411 0.703

ql4 4  Atyour current main workplace, do you think there are disparities between standard employees and tempo-
rary employees in the following areas? Please select the option that best applies. (SAMT) (Respondents
who answered 2 to 6 in sq12 2 answered this question.)

+ Job training opportunities

n % valid %
1 There is a disparity 300 0.149 0.503
2 There is no disparity 134 0.067 0.224
3 Don't know 163 0.081 0.273
88  Not applicable 1411 0.703

ql5 1 At your workplace, is the job content the same or different between standard employees and nonstandard
employees? For each of (1) part-time employees and (2) temporary employees, please select the option that
best applies. (SAMT) (Respondents who answered 2 to 6 in sq12_1 answered this question.)
* part-time employees
n % valid %
1 The same 130 0.065 0.148
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2 Almost the same 194 0.097 0.221
3 Standard workers perform more advanced tasks 403 0.201 0.459
4 Nonstandard workers perform more advanced tasks 27 0.013 0.031
5  Don't know 110 0.055 0.125
6  There are no part-time/temporary workers 14 0.007 0.016
88  Not applicable 1130 0.563

ql5 2 Atyour workplace, is the job content the same or different between standard employees and nonstandard
employees? For each of (1) part-time employees and (2) temporary employees, please select the option that
best applies. (SAMT) (Respondents who answered 2 to 6 in sq12_2 answered this question.)

* temporary employees

n % valid %

1 The same 81 0.040 0.136
2 Almost the same 165 0.082 0.276
3 Standard workers perform more advanced tasks 255 0.127 0.427
4 Nonstandard workers perform more advanced tasks 19 0.009 0.032
5  Don't know 68 0.034 0.114
6  There are no part-time/temporary workers 9 0.004 0.015
88  Not applicable 1411 0.703

ql6_1  Please select the option that best describes your current marital status and your spouse's employment.
(Common-law marriage is included as married) (SA) (All respondents answered.)

(Note: In the survey form, q16_1 and q16_2 are asked as a single question.)

n % valid %
1 Unmarried 1173 0.584 0.584
2 Widowed 5 0.002 0.002
3 Divorced 98 0.049 0.049
4 Married 732 0.365 0.365

ql6_2  Please select the option that best describes your current marital status and your spouse's employment.
(Common-law marriage is included as married) (SA) (All respondents answered.)

(Note: In the survey form, q16_1 and q16_2 are asked as a single question.)

n % valid %
1 Executives and directors 27 0.013 0.037
2 Standard worker 441 0.220 0.602
3 Part-time worker 102 0.051 0.139
4 Contract worker 22 0.011 0.030
5 Temporary worker 12 0.006 0.016
6  Contractor 3 0.001 0.004
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7 Sole proprietorship 39 0.019 0.053
8  Family worker 13 0.006 0.018
9  side-job 0 0.000 0.000
10 Unemployed 67 0.033 0.092
11 Student 6 0.003 0.008
88 Not applicable 1276 0.635
ql7 What was your household's standard of living when you were 15 years old? Please answer in comparison
to the average standard of living at that time. (SA) (All respondents answered.)
n % valid %

1 Wealthy 93 0.046 0.046
2 Somewhat wealthy 264 0.131 0.131
3 Average 1134 0.565 0.565
4 Somewhat poor 332 0.165 0.165
5  Poor 185 0.092 0.092

ql8 Suppose society were divided into 10 levels from top to bottom. Which level do you think you belong to?

(SA) (All respondents answered.)

[ " S

(o)}

Mol ]

10

Bottom 174
192

296

253

497

325

179

58

15

Top 19

%

0.087
0.096
0.147
0.126
0.248
0.162
0.089
0.029
0.007
0.009

valid %
0.087
0.096
0.147
0.126
0.248
0.162
0.089
0.029
0.007
0.009

ql9 1 What do you think about the following statements? Please select the one that you feel is closest to your

opinion. (SAMT) (All respondents answered.)

* Men’s job is to earn income, while women’s job is to take care of the home and family

1

2
3
4

n
I think so 66
I somewhat think so 280
I can't say either way 671
I somewhat don't think so 304
I don't think so 530
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%

0.033
0.139
0.334
0.151
0.264

valid %
0.033
0.139
0.334
0.151
0.264



q19 2

q19 3

ql9_ 4

ql9 5

6  Don't know 157 0.078 0.078
What do you think about the following statements? Please select the one that you feel is closest to your
opinion. (SAMT) (All respondents answered.)

* Women are better suited for household chores and childcare than men

n % valid %
1 Ithink so 160 0.080 0.080
2 I somewhat think so 520 0.259 0.259
3 Ican't say either way 709 0.353 0.353
4 I somewhat don't think so 193 0.096 0.096
5  Idon't think so 246 0.123 0.123
6  Don't know 180 0.090 0.090

What do you think about the following statements? Please select the one that you feel is closest to your
opinion. (SAMT) (All respondents answered.)

+ If equal opportunities are provided, it's acceptable for wealth disparities to arise from competition
q PP p P P p

n % valid %
1 Ithink so 210 0.105 0.105
2 I somewhat think so 645 0.321 0.321
3 Ican't say either way 694 0.346 0.346
4 I somewhat don't think so 179 0.089 0.089
5  Idon't think so 98 0.049 0.049
6  Don't know 182 0.091 0.091

What do you think about the following statements? Please select the one that you feel is closest to your
opinion. (SAMT) (All respondents answered.)

* Becoming financially independent from one's parents is important for being an 'adult.’

n % valid %
1 Ithink so 475 0.237 0.237
2 I somewhat think so 660 0.329 0.329
3 Ican't say either way 550 0.274 0.274
4 I somewhat don't think so 105 0.052 0.052
5  Idon't think so 58 0.029 0.029
6  Don't know 160 0.080 0.080

What do you think about the following statements? Please select the one that you feel is closest to your
opinion. (SAMT) (All respondents answered.)
* Holding a stable job is important for being an 'adult.’
n % valid %
1 Ithink so 323 0.161 0.161
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AW

6

I somewhat think so

I can't say either way

I somewhat don't think so
I don't think so

Don't know

669
651
135

73
157

0.333
0.324
0.067
0.036
0.078

0.333
0.324
0.067
0.036
0.078

ql9 6  What do you think about the following statements? Please select the one that you feel is closest to your

opinion. (SAMT) (All respondents answered.)

+ It is most desirable to work at the same company from hiring until retirement.

1
2
3
4
5
6

I think so

I somewhat think so

I can't say either way

I somewhat don't think so
I don't think so

Don't know

n
74
270
807
304
376
177

%

0.037
0.134
0.402
0.151
0.187
0.088

valid %
0.037
0.134
0.402
0.151
0.187
0.088

ql9 7  What do you think about the following statements? Please select the one that you feel is closest to your

opinion. (SAMT) (All respondents answered.)

* If they have the same job and responsibilities, part-time and temporary employees should be paid the

same wages as standard employees.

1
2
3
4
5
6

I think so

I somewhat think so

I can't say either way

I somewhat don't think so
I don't think so

Don't know

473
567
590
139

74
165

%

0.236
0.282
0.294
0.069
0.037
0.082

valid %
0.236
0.282
0.294
0.069
0.037
0.082

ql9 8  What do you think about the following statements? Please select the one that you feel is closest to your

opinion. (SAMT) (All respondents answered.)

* Working as a freeter (nonstandard worker) should be avoided if possible.

1

AW

I think so

I somewhat think so

I can't say either way

I somewhat don't think so
I don't think so

Don't know

23

233
390
776
248
191
170

%

0.116
0.194
0.386
0.124
0.095
0.085

valid %
0.116
0.194
0.386
0.124
0.095
0.085



ql9 9  What do you think about the following statements? Please select the one that you feel is closest to your
opinion. (SAMT) (All respondents answered.)

+ This question is included to ensure that you are reading carefully. Please select option 2, 'Somewhat

agree.'
n % valid %
1 Ithink so 23 0.011 0.011
2 I somewhat think so 1510 0.752 0.752
3 Ican't say either way 260 0.129 0.129
4 I somewhat don't think so 71 0.035 0.035
5  Idon't think so 26 0.013 0.013
6  Don't know 118 0.059 0.059

ql9 10  What do you think about the following statements? Please select the one that you feel is closest to your
opinion. (SAMT) (All respondents answered.)

* The husband should earn more than the wife

n % valid %
1 Ithink so 121 0.060 0.060
2 I somewhat think so 249 0.124 0.124
3 Ican't say either way 812 0.404 0.404
4 I somewhat don't think so 296 0.147 0.147
5  Idon't think so 347 0.173 0.173
6  Don't know 183 0.091 0.091

q20 1 Do you have any family members, relatives, or close friends in the following occupations? Please select all
that apply. (MA) (All respondents answered.)

+ Systems engineer

n % valid %
0  Not selected 1858 0.925 0.925
1 Selected 150 0.075 0.075

q20 2 Do you have any family members, relatives, or close friends in the following occupations? Please select all
that apply. (MA) (All respondents answered.)

* Accouting staff

n % valid %
0  Not selected 1939 0.966 0.966
1 Selected 69 0.034 0.034

q20 3 Do you have any family members, relatives, or close friends in the following occupations? Please select all
that apply. (MA) (All respondents answered.)

+ Convenience store clerk
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q20 4

q20 5

n % valid %
0  Not selected 1950 0.971 0.971
1 Selected 58 0.029 0.029
Do you have any family members, relatives, or close friends in the following occupations? Please select all

that apply. (MA) (All respondents answered.)

* cleaner
n % valid %
0  Not selected 1933 0.963 0.963
1 Selected 75 0.037 0.037

Do you have any family members, relatives, or close friends in the following occupations? Please select all
that apply. (MA) (All respondents answered.)
* None of the occupations apply

(Note: If g20_5 is selected, other options cannot be selected.)

n % valid %
0  Not selected 304 0.151 0.151
1 Selected 1704 0.849 0.849
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